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1 '\s 0 stdes of a trtangle are formed by vectors A = 31 + 6] 2k and -
4t ] i 3k Determm"’ "the" angle betWeen the vectors A and B.
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ive a conc1se deﬁmtlort f to_. ,que (T) hence estabhsh the vector s

tlon SOcm Calculate th ; eleratlon of the wheel
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g w1th veloc1ty v, show that its kinetic .
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oy as.a baseball of mass
(_:ts has a greater momep
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1d yn a-] 5" 1nclmed plane as shown R
W Gtven that the mass ac letates at 0.72 mis’, calculate the
,ﬁcxent of frlctxonal fo 'e_ ting up the slope Rk o s
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g ); %tate the Bernoullx s theor“m = ( 1 mark)

: i b ) “Water flows in a hortznntal pxpe lme of varymg cross-sections. At a
;point where the pressure of water is 0.05 m of mercury, the velocity
“of the flow is 0.25 m/s. Calculate the pressure at another point where

fthe velocxty of flow is 0.4 m/s given that the density of water is 1000

rt/m :
7 (2 marks)
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